2010 Information Processes and Technology

Question 16

Jim has hired a project team to build a new information system for his business. The
project manager has provided a feasibility report.

Using a traditional system of development approach, which of the following does Jim
need to consider next?

A X How installation of hardware and software will occur

B « How the specifications for the design will be developed

C X How the staff will be trained and the system will be tested

D X How the new system will help the business achieve its purpose

HSC Statistics on this Question:
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 22% 18% 15% 15% 12%
B 26% 22% 36% 47% 72%
C 29% 33% 20% 11% 8%
D 22% 25% 29% 26% 8%
N 1% 1% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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